#

o

(REBS | 1

~

70

[T5ER] AR




%10
2 7
32° — 652 +c=0

HERD, clIEBEL, 200 o, LT HLE, ROMIEZ L

(1) a & Blix

o+ s=[1]4/[2

il t, B af=—1 THhDHL X,

—[3

ThHd, ZDLE2ODMHT,

J[a]=/[5

ERED,

(2) Eff a=p THDHLE

Thb, 20X,

Tho,

(3) a<0<p Zliil=d c OFPHIZ

c<9

Th D,



FE2M

ANABCIZEBWT, ZABC =175, ZACB=60°5 BC=10&+:75& %, ROMIZEZ L,

o]

(1) / BAC = 10511 ThY,

#5r AB Ok =%

12]./[13

Th oD,

(2) #5r AC ORI,

14] ([18]+ /ae] |

Th o,

(3) cosT5°DfEIZ,

19

Th o,

(4) AABC ORNEEM & AC &3 5:T D REP LT HEE,

20
v —=([22] /[as] -/ [2A] |
Thh, WEHOFRIL
2
7(27 - JT28] + 28] |

‘/6‘3})50



FE3M

p HIEDFEKRET S, JEEFHER EIZBWT, y= (o —4)° + 64 2 C, y=3p’z ZEHMRI &
15, ZOLE, WOMIZEZ X,

(1) BB TR HEM L L#if C Oy DIEDEEFRTEEL LT,
f@) = (@ —4)° =3’z + 64 2EHKT D, fOHEBEEK F 1T

7@ =[30] - —[31]) ~[32]»

Thb, f (@) =00V roDFz=|33|EpDLExThHV, fORUMEX

34|, —|35:36 |, +|37:38

Thb, BT, fOBMENR0IZZREDIEp=|39|nLxTh3,

(2) BRI EHBR CIXVNRD p 2BV T H I EE ( 40|, (41 )@*azbéo

Tz, BRI E R CBRET L0,

p=42|, |43|nLx<hr (42|, 43| HEFRR),




FE4ME

3+J’5)"+(3—JB

5 5) chHZBNDLE, KOMICERL,

ﬁﬂMJ@~&@ﬁ%:(

3+v5 345

1 = ,
(1) « 5 Y 9

LB E, o) OFHEITa, =2 +y=|44|TH 5D,

(2) zy= |49 | cHDDT, {a) O 2 HIT

a=z"+y = (:B+y)* BO|zy(x + o) = 51552 TH5H,

@+y> X, F4mEZX

o~

(3) @ +9)(@+y = x@Jr y@+ 2y (x

a, = |87 a[gg] ~ o[5a]~ | 60} 61| 5 5.

(4) nz3mnrtxa =57 a,,,—a”,ﬁi‘ﬁibﬁoa)f“, F5IALE 6 HIT

Znziva, —|64:65:66 | o.—|67:68:69 <z,

(5) a, > 2000 Zi7=3 /o E8%n 12| 70| cH 5,

LIETHEIREDYTY,



